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" 3397 :
TR 14311 %] Sigad Hragr] & 96 3N 7] dxed] § et B :

(1)
(i1)
(iii)
(iv)
(v)
(vi)
(vii)

(viii)

(ix)

(x)

$7 397-97 § 38 Fv7 & | @i 3o SifAard & |

I8 Y97-97 Qi @Usl § fAyifaa 8 — &, @, T, 909 & |

Gue & 7 Yo7 qea 1 8 18 % aglasediy (MCQ) a9 ¥97 §&4l 19 Uq 20
STYHYT T T STEIRT UH-UF 3 & J97 8 |

@UE @ 7 J97 &7 21 & 25 T 37ld TH-FTIT (VSA) IR & 31-3t 371 & 97
&1

GUE T H 397 G&I1 26 T 31 T TY-IF0T (SA) TR & di4-ad17,975] & Jo7 & |

TUE T H Y97 G&I7 32 & 35 7% FIH-F0T (LA) ¥HR & Gie-Gier 37 & J97 5 |

@UE T § Y97 &7 36 G 38 T YU 37eIIT STGIRT-GAR-FR 3H & J97 8 |
Jcdeh YUl 37997 8§ JTaRF [dheq @1-3t 37h] & 97 4 197 71 & |

Y97-95 H GHY [9ehcq 787 1397 71 & | =4, @US.E & 2 ol H, @8 7 & 2 FoA
4, G@vs 7 %2 v 4 797 G@US & & 3 Yo 7 AR [dHT FH JIaE 1597 T
&1

22

T&T STAE & T HHAT FAIET 1\ Tg HFTIF F = = eAforg, ate r=ren
7 fo 7 & 1 O
Wszawh &
N
$ T ®

39 GUE § Fglahediy Y (MCQ) 8, 578 Jee J97 1 37% #1 &8 |

1.

3 BT, TS0 B0 1 TR 5 em 8, % el Welehl ol THeATeRt SISt T3
3 | 359 W ST T IS SR B

(a) 200 cm?

(b) 300 cm?

(¢) 125 cm?

(d 250 cm?
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General Instructions :

Read the following instructions very carefully and strictly follow them :

(i)

(it)

(iii)

(iv)

(v)

(vi)

(vii)

(viii)

(ix)

(x)

This question paper contains 38 questions. All questions are compulsory.
This question paper is divided into five Sections - A, B, C, D and E.

In Section A, Questions no. 1 to 18 are multiple choice questions (MCQs) and
questions number 19 and 20 are Assertion-Reason based questions of 1 mark
each.

In Section B, Questions no. 21 to 25 are very short answer (VSA) type
questions, carrying 2 marks each.

In Section C, Questions no. 26 to 31 are short answer (SA) type questions,
carrying 3 marks each.

In Section D, Questions no. 32 to 35 are long answer (LA) type questions
carrying 5 marks each.

In Section E, Questions no. 36 to 38 are case study based questions carrying
4 marks each. Internal choice is provided in' 2 marks questions in each
case study.

There is no overall choice. However, an internal choice has been provided in
2 questions in Section B, 2 questions in Section C, 2 questions in Section D and
3 questions in Section E.

. ) 22 . .
Draw neat diagrams u’,@&er required. Take ©t = - wherever required, if not

stated. &
O
Use of calculato&@s not allowed.

§§

SECTION A

This section comprises multiple choice questions (MCQs) of 1 mark each.

1. Two cubes each of 5 cm edge are joined end to end. The surface area of
the resulting cuboid is :
(a) 200 cm?
(b) 300 cm?
(c) 125 cm?
(d) 250 cm?
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2. T e T TY IV T | HHA-Y-HA Teh U ITd B shl TTRiehdT @ -

®»

(a) 1

(c) @ 1

DO |

3.  3fg foreft Siea & wred TR g s 17 3R 20 2, A YA HF 1 ST

hl{ch 39 °i¢"| <l HIEYh BT :

31
(a) 20 (b) 3
(c) 18 (d) 17

4. T r 9t 38 goEs, et el S0 90° 7, T GAEA B ¢

nr? 1 o

@ 5 gt

b ol \\Q®
4 2 §Q§

&

© = @‘sﬂ
4 2

(d) % — _r?sin 90°

5. faa & el omw, & safe f F=E R 3uh o™ Al T = THEHE 3 |
I 1 37 (altitude) B :

(a) 30° (b)  45°
()  60° (d) 90°
430/C/2 ~N~~ Page 4
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2. Two coins are tossed together. The probability of getting at least one tail,

is :

3 1
d b -
(a) 1 (b) 1
1
= d 1
(c) 5 (d)
3. If the mean and the mode of a distribution are 17 and 20 respectively,

then the median of the distribution, using empirical formula, is:

(@ 20 v 2
3
() 18 d 17
4. Area of a segment of a circle of radius r and central angle 90° is :

2 1 o
(a) - - =7 \@

2 2 s\
(b) 2mr 1 %§§
4 @Q\
N
(©) ﬁ _ lr2
4 2
(d) % 12 gin 90°

5. At some time of the day, the height and length of the shadow of a man

are equal. The sun’s altitude is :

(a) 30° (b)  45°
(e  60° (d 90°
430/C/2 ~N~~ Page 5 P.T.O.
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6. T ABCH, DE | BC® |3 AD: DB=2:37l, d DE : BC SR % :

A
D E
B g C
(a) 2:3 (b) 3:5
(e) 2:5 (d) 3:2
7. U fga a5 TEeh Yk 7R 0F, 7

(& xx2-7) b)) 7x2-1
© = &2-x) @ 7.@2L7%)

7
8. A Th AP. 1 H6 3= — 678, dl agy—ay, &l °H & :

(a) 36

(b) 6 K\@
(¢ -36 (&‘%%
d -6 Q\Q

N\
9. @ T s B, %7 Q4w 9 W PA 3 PB i@ § | A ~ APB = 30°
2, @ £ OAB 9T 8 :

B
0 (—>p
A
(a)  30° (b)y 15°
()  45° d 10°
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6. In AABC, DE | BC.IfAD : DB = 2: 3, then DE : BC is equal to :

A
D E
B ” C
(a) 2:3 (b) 3:5
() 2:5 d 3:2
7. A quadratic polynomial having zeroes 7 and 0 is :
(a xx2-7) b)) 7x2-1
Y @ 706247
8. If common difference of an A.P. is — 6, then value of agj—aq, is:
(a) 36
® 6 \\Q®
(c0 -36 %2,6
N3
@ -6 Q\Q

\

9. In the given\iigure, PA and PB are tangents to a circle centred at O. If
Z APB = 30°, then £ OAB equals :

B
0 (—=>r
A
(a) 30° (b)  15°
(c) 45° (d  10°
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10. ?T&{ cos A = g %, a cotA.sinAaﬂﬂﬂ_&ﬁ"'ﬂ :
5 5
_ b -
(a) N (b) 3
8 8
_ d el
(c) N (d) =
11. Tafafgd sea & fou
d &H 3Th BT h T
10 1
20 5
30 13
40 15
50 16
IgAh 1 @ -
(a) 30 -40 (b )~ 40-50
(c) 20 - 30 10 - 20
12. T=fafgad @ %Idﬁl@? mﬁﬁam% ?
Q.»
(@ (2[ @1@ B  (Z-12
(©) —§2 +V2) () (‘/_2+—J§J_2)
13. < T8 IRIdH, S8US p(x) T UTH G811 B | 39 §§YG p(x) b IAhi hl
’éi'@fﬂ % :
y
x’' 0 X
v
(a) 3 (b) 4
(¢ 5 @ 2
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10. If cos A= g, then value of cot A.sin A is:
5 5
(a) — (b) =
V39 8
8 8
() — d =
V39 5
11. For the following distribution
Number of
Marks below Students
10 1
20 5
30 13
40 15
50 16
the modal class is :
(a) 30-40 (b) 40-50
(c) 20-30 (d 10-20
S
12.  Which of the follow%@i an irrational number ?
R
(a) (2@ - @ b (2-1?
@ (V2 +52)
(c) V2 - (2++/2) (d) e
V2
13. In the given figure, graph of a polynomial p(x) is given. Number of zeroes
of p(x) is :
y
x 0 %
yf
(a 3 (b) 4
() 5 d 2
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14. Bt vy 3Ry (ry > rp) I STENATHR HER I FA TS &ABA (AN

qer 9T B
(a) 2n (r? + rg) ®b) = (rf + rg)
(¢ 3m rg +7 rf @  3n r§ +7 rg

15. 3IfE x=asin0 3N y=bcos6 %,Fﬁ b2x?2 + a2y? T R
(a) 1 (b)  aZb?

2 2
(c) % (d) a2+ b2
a

16. %HHWWX2+px—q=O%%WTﬁﬁ,€Iﬁ:

(a) pZ=4q () p?=-4q
() p?=2q \QKQ (d) p?=-2q
g\
. . N3
17. n@.ﬁg@ﬁgmé\ Rk
(a) 4@%@
(b) 33T
(c) 5 $hTs
d) +53®
18. g THIRWT W 5x + 4y = 20 3N 10x + 8y = 16 :
(a) o1 HI3 & T3l 8
(b) o SN €4 ¥ b & 8
(c) &1 g g 2
d $3AE
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Download all NOTES and PAPERS at StudentSuvidha.com


http://studentsuvidha.com/
http://studentsuvidha.com/

14. Total surface area (internal and external) of a hemispherical bowl having
radiir; and ry (ry > 1¢) is:

(@) 212 +13) b  m@?+rd)
(© Bnry+mr? @ 3nri+mrs

15. If x=asin® and y=bcos 0, then b%x2 + a2y? is equal to :

(a) 1 b))  aZb?
2 2
© 2 (@  aZ+b?
a“b
16.  The roots of the quadratic equation x2 + px—q =0 are equal, if :
(a) p?=4q () p?2=-4q
() p2=2q (d) p2=-2q
$
R
17. Distance of point P 3) from origin is :
&
(a) 4 units N
@Q

by 3 unit§Q
(¢) 5 units

(d) + 5 units

18. The pair of linear equations 5x + 4y = 20 and 10x + 8y = 16 has:
(a)  no solution
(b)  infinite number of solutions
(c) a unique solution

(d) two solutions
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E?El

B

J97 G&IT 19 3K 20 3997 U d& STIIRT I97 & 3K Yib I3 &7 1 3%
8 | 3 ®97 137 71T & 57 v @1 S7f%eT (A) T GR 1 T (R) GRT Sl [T 771
& | 57 3 & T&1 I A4 17T 7T B (a), (b), (c) 3K (d) F & GTHT 1T |

(a) AR (A) 3R @b (R) QI T&l & 37 b (R), AR (A) hT &l
SITEIT hLdl B |

(b)  3THHH (A) 3R Tk (R) GHI HEl &, Tg doh (R), ITMHHAA (A) i T&
e T w1 7 |

(c) AR (A) &l 7, Tg o (R) T4 & |
(d) AR (A) A 8, 94q o (R) F&l 2 |

19. 3% (A): g O Il g9 W PA 3R PB TRI@EE & 3R £ OPA = 30°
3 | T, A PAB T% 0e1g FYH 2 |

7% (R) : e g € 99 W S 15 Si-t@istl i Ararsar ser gl
1 N
N
S A

N

VAN
S

B

20. S7fUFYT (A): T U A hi Igd HHTEAT & FlG $eh T <hl HTHIehdl

0-9999 % |
T (R) : 3T T, fSaent ufed g Ffvwa 8, < wikehar @eg 1 gt
2l
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EE
e

Questions number 19 and 20 are Assertion and Reason based questions carrying
1 mark each. Two statements are given, one labelled as Assertion (A) and the

other is labelled as Reason (R). Select the correct answer to these questions from

the codes (a), (b), (c) and (d) as given below.

(a) Both Assertion (A) and Reason (R) are true and Reason (R) is the

correct explanation of the Assertion (A).

(b)  Both Assertion (A) and Reason (R) are true, but Reason (R) is not

the correct explanation of the Assertion (A).
(c) Assertion (A) is true, but Reason (R) is false.

(d)  Assertion (A) is false, but Reason (R) is true.

19. Assertion (A) : PA and PB are tangents to the circle centred at O and
2 OPA = 30°. Then, A PAB is an equilateral triangle.

Reason (R) : Length%{g%angents from an external point to a circle are

equ@ length.
\Q(Z)-
Q

§§

A,
-

20. Assertion (A): An event is very likely to happen if its probability is

0-9999.
Reason (R): Probability of a sure event is always 1.
430/C/2 ~N~~ Page 13 P.T.O.
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Qs @

57 GUE 7 37fd TY-FTHIT (VSA) IR & J97 &, o978 9% & 2 376 & |

21. TH Id H g AR B 9@ i e = % 7 fag (3, —10) 3R
(1,4) 21

22. (&) A=30°3MB=060°% fou, FafaRaa =1 genfua i -

tan (B — A) = tanB — tan A
1+tan A tan B
AAAT
(@) ¥ 3| Hife

sinZ 60° — 2 cos? 45° + % cosec? 30°

23. (%) <wisy fp freft off o Tem n & forw, @@ 8, 3 0 W et off

A

&
(@) o= e ff i 4, w96 o 160 F1 LOM o

HCF@W |

24. @ SN T 95 P(m, 6), 95 A(- 4, 3) 31 B(2, 8) &l Siied a1t T@RATE i
fore oruma H.faurig St 8 | m 1 O i $1a i |

25. 52 A & U<l bl Teh TE & Tt Sresmal T STHEl b <l bl gl 1A S
3 | 3Ueh TG, 99 §C U H ¥, Th U ATgesdl Hepall Sl § | WTRiehdl [
HIfST for I8 T

() AT |
(i) SR T |
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SECTION B

This section comprises very short answer (VSA) type questions of 2 marks each.

21. Find the centre and radius of a circle having end points of its diameter as

(3,—-10) and (1, 4).

22. (a) For A =30°and B =60°, verify that

tanB — tan A

tan (B-A) =
1+tan A tan B

OR

(b) Evaluate :

sinZ 60° — 2 cos? 45° + % cosec? 30°

23. (a) Show that 8" can never end with the digit 0 for any natural
number n. ®
0%\@
(b) Find LCM 4& HCF . 0of 96 and 160, using prime factorisation
D
methcéQQQ

24. Find the ratio innwhich the point P(m, 6) divides the line segment joining
A(—4, 3) and B(2,8). Also, find the value of m.

25. All kings and queens are removed from a deck of 52 playing cards. Now, a
card is withdrawn at random from the remaining cards. Find the

probability that :
1) it is a red card.

(11) it is an ace.
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Download all NOTES and PAPERS at StudentSuvidha.com


http://studentsuvidha.com/
http://studentsuvidha.com/

B
Qs

§F GUE § TTY-ITHIT (SA) FBR & J97 8, o978 I3 & 3 37% & /

26. U JAFATHR Wd hl AaT8 IGehl TS ¥ 30 m 31faes 3 fahol 3ueht =i
T 60 m 3114 8 | ©d & TAMI ! I I |

27. (%) TagHIufr2+3/3 wh ofEm e g | I fEm w3 f% V3
Teh AURAT T 7 |
JrE

(@) fag e e V5 e ity a=n |
. BC BE
28. (%) anéa@ﬁﬁ,ﬁ=A—Caﬁt4ABD=4ACD%|mﬁq%

A ABD ~ A EBC.
E

Q

(@) ané %ABcaﬁxAEDammﬁga%ﬁqastaﬁm
%lﬁ@zﬁﬁm%

I~

A B
(i) AABC~AAED
(ii)) ABxAD=ACxAE
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[ [E]
S5
SECTION C

This section comprises short answer (SA) type questions of 3 marks each.

26. The length of a rectangular field is 30 m more than its breadth and the
diagonal is 60 m more than its breadth. Find the dimensions of the field.
27. (a) Prove that 2 + 343 is an irrational number. It is given that /3 is

an irrational number.

OR

(b) Prove that /5 an irrational number.

28. (a) In the given figure, % = % and £ ABD = £ ACD. Show that
A ABD ~ A EBC.
E
A
B —-
S b ¢

R
&
(b)  In the gi %ﬁgure, ABC and AED are two right triangles, right

angle@B and E respectively. Prove that :
C

I~

A B

(1) A ABC ~ A AED

(ii)) ABxAD=ACXxAE
430/C/2 ~N~~ Page 17 P.T.O.
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c|_IE|3§E|

e

29. @ T3 A H, g O I QA Hebg I ST MW & | 394 gai hl BHAT
OA=3cm3MNOB=6cm 3 |

BETfhd W T IR 31 HIT (1 = 3-14 1 J=WT Hife)
30. fag Sl .

tan 0 N cot O
1—cot0 1-tan 6

31. wgWE 4x2 + 17x — 15 é:\@m T I 3 Seh! d Turshi % s %
g ! Fed hl cﬁ&b |
Q\QQ}
S

wwﬁa?a‘_sﬁﬁ%LA)W%W?; 74 g% & 5 3% & |

32. foag HNT fop.us aer fog & ga W Ei=h T8 Tei-t@rsil i awarsai st
Bt & |
33. (%) gh a0 IH x -2y +4=0 T x+y=2 o IH fafr 4 g«
HIT |

=1 + sec 0.cosec 0

Qs ¥

YT

(@) 36T 3T 24 U &1 A GeI T 780 7; Safeh 24 U7 3R 36 YTt &
F o T 7207 | Tsh U 37X Tsh Ufled shi Hod T shIfTT |
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29. In the given figure, two concentric circles are shown, centred at O. The
radii of the circles are OA = 3 cm and OB = 6 cm.

Find perimeter of the shaded region. (Use © = 3-14)

30. Prove that:

tan 0 cot O

+ =1 + sec 6 cosec 0
1—cotO 1-tan©

31. Find the zeroes of tl{&gpolynomial 4x2 + 17x — 15 and verify the
relationship betwee@e zeroes and the coefficients.

N3
R
$

This section comprises long answer (LA) type questions of 5 marks each.

SECTION D

32. Prove that the lengths of the tangents drawn from an external point to a
circle are equal.

33. (a) Solve the pair of linear equations x — 2y + 4 =0 and x + y = 2
graphically.

OR

(b) 36 pens and 24 pencils together cost ¥ 780, while 24 pens and
36 pencils together cost ¥ 720. Find the cost of one pen and of one

pencil.
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34. (%) Ti=faRga awoft frel wfa % 100 wHT § 83T Afd g (ha) 7§

IcqTeH M @

(gf‘iﬂ) Tt 1 s
50 — 55 2
55 — 60 8
60 — 65 12
65— 70 24
70 — 75 38
75 — 80 16

37 3ffehel I AT AN HIeAH A HIfTT |
T
&
(@) ﬂ%%qmat@xﬂmw 3 FgeTh T4 HIT |
gﬁ?\@ o 1 HE

S

40 — 45 5

45 —50 11

50 — 55 20

55 — 60 24

60 — 65 28

65— 70 12
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34. (a) The following table gives production yield per hectare of wheat of

100 farms of a village :

Production yield | Number of
(in kg/ha) farms

50 — 55 2

55 - 60 8

60 — 65 12
65—-170 24
70 - 75 38
75— 80 16

Find the mean and median of the data.

OR
N
(b) Find the mea(&)%nd the mode of the data given below :
Wei g Number of
HOkg) students

40 — 45 5

45 - 50 11

50 — 55 20

55 — 60 24

60 — 65 28

65-170 12
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35. 2 TS M #, A ABC % 3iveis AD 3R CE wewt foig P o wfdese +id # |

q9IsT o
&
D

P

o

A E B
i) AAEP~ ACDP
(iil) AABD~ ACBE
(iii) AAEP~ AADB

LCLERSS
59 GG H 3 YUl 3T STENRT F97 8 577 I & 4 3% &/
TR0 AT - 1
36. W UIA ¢ UST § ST WA & | 31 @HI (Tiedl) i cliehi AT AR o A1
?gw%?,ﬁtwﬁtﬁww 3 IT-ufeem w3y U= iR | Uty
|
few mu o 4, wwﬁ@@ﬁ 28 m e g W @S & | T A1 & o= T
e % e fag &, SR % 3 S A 60° o 30° % |

wh e
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35. In the given figure, altitudes AD and CE of A ABC intersect each other at
the point P. Show that :

C
D

P

.
A E B

(i) A AEP ~ A CDP

(ii) A ABD~ ACBE

(ili) A AEP~ AADB
SECTION E

This section comprises 3 case study based questions of 4 marks each.
Case Study -1

36. Totem poles are made from large trees. These poles are carved with
symbols or figures and mostly found in western Canada and
northwestern United States.

In the given picture, two&uch poles of equal heights are standing 28 m
apart. From a point, ‘mewhere-between them in the same line, the
angles of elevatio&)%f the ‘top.-of the two poles are 60° and 30°
respectively. Q‘Z).
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Iwfeh % IMgR W, el sedt % s G

() U HT% AHIhd & 18T | 1
() (F) @ H FAE TG HINY | 2
YT
() (@) 3 S&on % fog & @Wi % MY H g A p qAT q H &I H
foran S 8, a1 p 3R g & =9 g9y 71d hife | 2
(i)  S&gor fog &1 TA T HINT | 1

ThIOT AEFAT - 2

37. Uk US hl IW : Tk Ug hl 39 [Huifid 7 o1 g8 Gl alis @l &
forerra & arfier Socti sl TUFT KT B | UET € Ueh ok I8l [CERT AT R |

s’
o

T UgaH o8 s & aqﬁwmﬁ@ngCBA(%aé@)%rﬁa%m%|
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i
@Q
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C
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B

Based on the above, answer the following questions :

1) Draw a neat labelled diagram. 1
(i) (a)  Find the height of the poles. 2
OR

(i) (b)  If the distances of the top of the poles from the point of
observation are taken as p and q, then find a relation
between p and q.

(iii) Find the location of the point of observation. 1

Case Study - 2

37. Age of a tree : The most accurate way to determine the age of a tree is to
count the annual rings of wood growth. One such trunk has been shown
here.

To make an identifigation mark, the forest department has painted
segment ACBA. @e diagram) If chord AB makes an angle 90° at the

centre and radiis of the trunk is 21 cm, then find the :

$
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(i) ST AB & @S | 1

(ii) A OAB T &T%d | 1

(iii) (%) TaGE ACBA HI &% | 2
AT

(i) (@) F=I@s OACBO %1 UiHM | 2

ThI0T 3{ETAT - 3

38. UH HyH femmsR Hisep Ued feomsa o wr 2 | v ufh A $© SMifha o
3R Bt By 7 |

\Q‘G
wé?ﬁésam‘@ freaffan Tt % o AR -
(i) YA IRk H o <T@ & fotw AP, Fd HIf | 1
(i) e Ufws o Bys 6 g % faw AP, 3 Fife | 1
(i) (%) IR IAH SRfRd I H YA 2 cm B, A SRR & ATd
$ifSe, 9 15 it i Tewmsa fomam w & | 2

AT

i) (@) ‘o e A wen § Byl f P e 9| wE w1 g
fafgy | 3@ S, T IR | 2
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) length of chord AB.
(11) area of A OAB.

(iii) (a)  area of segment ACBA. 2
OR
(iii) (b)  perimeter of sector OACBO. 2

Case Study -3

38. A fashion designer is designing a fabric pattern. In each row, there are

some shaded squares and unshaded triangles.

&

Based on the @se, answer the following questions :

) Identify A.P. for the number of squares in each row. 1
(ii))  Identify A.P. for the number of triangles in each row. 1

(iii) (a) If each shaded square is of side 2 cm, then find the shaded

area when 15 rows have been designed. 2

OR

(iii) (b)  Write a formula for finding total number of triangles in ‘n’

number of rows. Hence, find Sy,. 2
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